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1|HFLZ FLIR =575 5 (%) e 3.40
2| TREZRL FLIE = ”<£ () kg 900.00
3Bl (Hi)*ﬂ@z kg 97.00
4L FLIE = 2575 51 (BR) kg 350.00
SlEE—~» (Hi)*ﬂ@z kg 418.00
6|72V B (BR) 7 v ez Kig /K pE kg 1,950.00
| =—LH2A FLIR — 557 2R (BR) kg 545.00
8l UIZIEDNTA LA FLIR =5 F A (B kg 286.00
9| BRAHIT A~ (B)=2—URMN kg 650.00

10{& 1B (Bk) 7 v aa Rig/KiE kg 1,100.00
L1 ke H A2 B0 (BK) 1 28.00
12|K 1y 1 — A b = (BR) kg 1,100.00
13FH AL LR =57 R (BR) kg 640.00
14| N (B Hiil ik kg 148.00
15[125 LR =5 75 58 (BR) kg 700.00
16|LLEDET- (B Hiil ik kg 2,380.00
IVIEES FLIR =5 & (%) kg 110.00
18]3F v~ FLIR =557 5 () kg 105.00
19]75 I (K Al kg 238.00
20[L& 2 FLIR =557 5 () kg 283.00
21|75 FLIE =575 8 (BR) kg 245.00
22| AR FLIR =557 5 () kg 90.00
23|77 4y FLIR = 5575 & (BR) kg 1,310.00
24|Z1FH FLIR =57 3 () kg 145.00
25| % FLIR = 5575 3R (BR) kg 390.00
26| E# FLIR =55 7 2 (BR) kg 250.00
27| 5)K FLIE =275 5 (BR) kg 280.00
28|51 FLIR =55 5 () kg 430.00
29[~k (B Al kg 420.00
30[2=k=F FLIR =575 5 (%) kg 580.00
31|/ ASE FLIR = 5571 5 (1) kg 400.00
32| HoHE FLIE =5 (BR) kg 800.00
33| EMEE (*ﬂ%)#ﬂ@z kg 790.00
34z DxFE FLIR =575 5 (%) kg 270.00
s E LV (BR) & A kg 340.00
36|VAZ FLIR =55 7 28 (BR) kg 470.00
37\ svovTFL LY (B Hiil ik kg 385.00
38[LE (k) Hiil ik kg 468.00
39|V FLIR =5 5 (%) kg 1,715.00
40|/3FF FLIR =557 SR (BR) kg 217.00
AN ANAT TV FLIR =50 5 (BF) kg 185.00
420F A7 — FLIE =58 51 (BF) kg 620.00
43| T (ﬁ)z~7ﬁm kg 880.00
44[4FHH A b B —b (BK) kg 1,980.00
45| % A o B —b (k) kg 800.00
467 LA b B —b (BK) kg 1,880.00
4TRSS —z o B —b (k) kg 1,480.00
48|F ¥ — =2— b B —b (BK) kg 1,980.00
49|45 A (Bk) 7 voaa Rig/KE kg 1,950.00
50| Tex f BRUR £ T3 (BK) 1 605.00
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51[{ZKL HHHEHm () a—U8 kg 410.00
52| EF FLIR =57 5 (1) kg 270.00
53|IFH A (F)za—URMm N 430.00
54| Y TAAD A (BR) & L& kg 600.00
55| DV () a—U 15 375.00
56|57 — A DF (B)a—URf kg 530.00
7| EABh Dz () za—URMm ZN 330.00
58k F—A H AR S A0 (BR) A 300.00
59| H &N KAR (BK) Al kg 480.00
60| E )Y A b B —1 (BK) kg 800.00
6l{HLNEY AL ) — b = (BR) kg 1,100.00
62|F 7 A FLIR =55 7 28 (BR) kg 275.00
63| VAT A K (BK) Al g kg 338.00
64| FWVA (Bk) 7 vvaa KiG/KpE kg 1,400.00
65|/ AL T A1 WA B (BR) & 48.00
66| EfTEtexz Y () IR )\ & kg 5,500.00
67 [/ 18 1 B BT AL T3 (BR) I 445.00
68| FIA B AL AT —F ) — A HECES) N 925.00
69| B TN T (F)2—UR M 1 52.00
70| =X (k) Hiil 1k kg 454.00
71{DFea— L1 YTy R RS T LR | 81.00
720425 FLIR =55 & (%) kg 1,440.00
T3 x Y —A (B) ‘& L& N 878.00
A4S I A o B —b (BK) kg 1,980.00
75K G P RS T b B —b (BK) kg 980.00
76| R —~> (k) il Bk kg 580.00
T7|AV—7H BUAT B i T3 (BK) ZN 540.00
B[aF v H AR &0 (BR) {E] 260.00
9 —~ (BK) Kl i kg 580.00
80| /K3 FLIE =275 5 (BR) kg 460.00
81|\ B (Bk) 7 oaa Kig/KE kg 1,100.00
82|HTA (Bk) 7 vaa Kig/KiE kg 1,200.00
83|y v — A o B —b (BE) kg 1,080.00
S4|FHA TV W7y RS TR EE | 40.00
85| 7R AR FLIR =555 5 (1) kg 700.00
86| AR A — 2T A A H AR £ in (BR) 15 950.00
S ESET FLIR =55 5 (1) kg 290.00
88|\ /=it FLIR = 5577 5 (1K) kg 700.00
89| —7 L&A LR =57 3 (BR) kg 375.00
90| —R7E LI A b B —h(BR) kg 5,800.00
91[kyFER (F)a—URih i) 580.00
2| R £ (AE AD) H AR E &0 (BK) A 380.00
93| Ui E bbb o B —1 (BK) kg 1,180.00
MmO Eamay s WA B (BR) 1 50.00
95| O LN T ILT P —h H A3 800 (BK) 1 540.00
96|/ BRI R BETE H AR E &0 (BK) A 380.00
97 [ g N7 ) L L b H RS2 £ b (BF) 1 55.00
B[ FIE L I F H A E B0 (1) 1 430.00
WY&y Lo 50T — A ALY | B ARSEFE A () 1 450.00
100[Z— L RF A7 )L—> FLIR =557 5 (1) kg 665.00
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1015 HlE & F—R T4 A4 B (BR) 1 122.00
102|/FFLE KD F (BR) & L& " 855.00
103| OB — (B —F) (BR) & L& 48 340.00
104|EAE e — 2 v 7 v 7 H o B —b (BE) kg 1,130.00
105[ZEB A Y —A (F)a—UR 45 1,180.00
106 i I LS D 3 (B)=2—URMN A 1,300.00
107\ B 774 () za—URMm 13 800.00
108[/ e — X[EEIY I A H AR # B0h (BK) 13 685.00
109|BF 7Y 0 H AR &0 (BR) 13 990.00
110| e E R FLIR =5 7 28 (BR) kg 424.00
LW KR SHTED (F)=—URMm £ 560.00
112|B e AT —x H b HI—h (BK) B 60.00
13| HFLEte—F =Ry (B) ‘& L5 N 700.00
114[7—F = Iy 7 AR —) (BR) & £ 13 610.00
115|747 4% A GS) & 63.00
116|726 X H /KA (k) Al 18 1,340.00
7B ETEa5 2l (BR) & L& I 800.00
LI8|E T r— AR A1 b I —h(BK) e 108.00
119|735 G LAk} (F)2—UR M 1 76.00
120|777 N F by a—A (— ) B oL s = ALR S5 2P 1 72.00
1217 R=~_To Yy 7k PR s (BK) N 800.00
122|7 v —F = (fF=) (BK) & L= & 610.00
123[ R Ry h AR FLIR =575 5 (%) kg 700.00
124|=—b— T AL HCRk ()2 —U R 1l 76.00
125(~U KLy o H ARE B (BR) A 630.00
126K LD A H AR SRR £ (BR) 1l 50.00
127\ AR T A AE)E AL AL T3 (BR) £ 575.00
128|/ BREA T E R T H AR &0 (BR) 15 970.00
129|3B bbb RNAT —F b B —b (k) K 98.00
130 /> AANM DD BRL YL T (k) & -85 N 700.00
131|337 D& (Aha~Y—) H A2 B0 (BK) 43 700.00
1328 E R LRy s (k) & -2 5 N 745.00
133|H9F %K E: FLIR =55 5 () kg 352.00
134|8RTp DA () R\ & kg 4,500.00
135|882 >B () IR )\ kg 4,500.00
136[#R T Otih - SAMUEDB () IR\ & kg 4,800.00
137/ Bis A 7 s 7 ) — I H AR H B 0h (BK) 1 220.00
138| = RINI T DFE (k) & -2 b 13 835.00
139| £ KE (B)=2—URM S 340.00
140| DRSS ELUI AR T TAN—T WAL (B ] 102.00
141|FazmL—hr/—2R H A # Bdh (BK) Z 450.00
142|050 AL =257 5 (FK) kg 165.00
143| A=A FLIR =557 5 () kg 260.00
144 L1 LI B Ak} I ps = (1K) ] 73.00
145\ A7 (B)=2—URMH, 1l 168.00
146| 1 — AN AT A A b B—hBR) kg 1,280.00
147 |7 BN A KBETE H AR B (BR) S 410.00
148 SV —I—KL w7 (BR) & L& ZN 745.00
149(#5 B 7-J5¢ HECES) S 360.00
150 2EL 1okt (B)2—URM I 380.00
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151 TFEI0 O 5 (Fk) & -85 P 280.00
152 /METH)ALAEFE (B)=2—URM 0% 264.00
153 | /NS R fhE (F)za—URMm A 130.00
154| XD FU FLIR =575 5 (%) kg 345.00
155|7V—2 7 A5 H A (B il ik kg 1,150.00
156 FE B L (— ) Bl = ALIR S5 P 1 93.00
157|h~hE 2 —L —3F () za—URMm {E] 180.00
158|LE Hrt () a—URh ZN 240.00
159|EATDHDATA AT — K (— ) B oL s AL S5 P B 42.00
160| R/ NEEE H AR H B dh (BK) 43 600.00
161 |75k (F)=—URMm £ 395.00
162| 7 F7ART —Vwo H AR H B dh (BK) 4% 550.00
163|530 5 D B4 (F)2—URMm 18 1,210.00
164| DL G H A5 # B0 (BK) 4% 610.00
165| £ ¥ H AR E &0 (BK) kg 92.00
66| —>7> H A2 B b (BK) kg 710.00
167/ — H AR & (BK) {E] 20.00
168|726 HH 3 4k ()2 —U R S 19.00
169|722 B o — ZA—7 (BR) B A ALIR B SEPT {E] 105.00
170|720 5B A LA A—T (k) & A AL = ST 1 105.00
171 EIEI VA B H AR B (BR) kg 580.00
172|°b L HkEY — ()2 —U Rk 1 168.00
1731 b bNIEBL D EDE (k) EvAFLIR = SEPT 1 105.00
174NV AT (k) B A AL = T 1l 105.00
17506 A (Bk) B A LR = 30T 1l 105.00
176|307 213 A () a—U8 1 180.00
LT T IV =R f—H— (k) &2 AL = T 1 115.00
178| 0O H A Lo A (k) & A ALg = T {E] 105.00
179|fiE LB 2D E T F (Bk) Ea A LR = 5T 1l 125.00
180| B B DY T o — (k) & A ALg = T {E] 125.00
1819 XX (BR) B A LR = 3T 1l 125.00
182|2FEL b B —b (k) kg 8,800.00
183 | e LI A fIkk (F)a—URih A 368.00
184| K 3— (F)za—URMm {E] 185.00
185 I8 72 L 2w PR T3 (BE) N 241.00
186/ S 7 & 7= /X Z I3 A (BR) B A LR = 3T 1l 176.00




